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35.6.2
21a (28 mawp) 2 22a (n50p7 01D)

I 2x mwn: parameters of violating mn»w
a  If:2"nya told mYHw to get the w1pn (funds) from “a window or a box” and he brings from either — 2”nya is liable
i Even if: the 2"nya later said that his intent was only one of them (the one the n’>w did not choose)
1 Reason: 292w 017 are meaningless in re: interactions (including contracts, Drin and mn»»w)
b But if: 2”nya told him to get it from the window and he brought it from the box — or vice-versa — mYv is liable
II 2 mwn: n»yn involving a 2"ny3, an agent and a storekeeper (end-user)
a  If:2”nya sent funds with vwn and they completed their task — 2”ny1 is liable; if not (e.g. wrong storekeeper) — min is liable
i Challenge: y"on are not mnYw »1
1 Answerl (8”): they treated them like a basket of olives (olives sweat in the basket and that ny>r is considered liquid
that comes out 11¥1> >nRMYY PWIN) i.e. treated like insensate vehicles for 2”nya’s intent (per X:0 NMIAV)
2 Answer2 (pny 73): they treated them like monkey or elephant who brings an 217y — if the recipient takes it from them,
this is a valid 21’y > their insensate actions are a valid “agency” when it is result-driven
b If:2"nya sent funds with competent person and the 12nya remembered that it was w1pn before the n'>w got to the store
i And: therefore, 2”nya is now considered "1m” and exempt from n%yn
it Then: mn is Yy — when he uses the money
1  Question: is this even a case where mYw didn’t become aware that these are wpn-funds?
2 Challenge: 1:1 n%yn ®navin — if the 2”nya remembered but not the 9w — the MY is liable
(a) Answer (nww "): in our mwn, both of them remembered —2>’11n is liable
iii ~ Solution (for 3773): when he remembers, he should immediately take a coin or vessel in his own house and declare that the
wTpn — wherever it may be — is 9511 on this coin/vessel
1  Reason: v1pn can be redeemed with silver or qoa v
II » mwn: further details about “violating” mmn9w (thereby uprooting it, thereby liability goes to n>w)
a  If: he gave the mYw a nv1o (of wTpN) and told him to use ¥2 for wicks and ¥z for candles — and n*>w used full no1a for either
b  Or if he gave the m%w a nv118 and told him to use it for either wicks or candles and he used V% for candles, %2 for wicks
¢ In both cases: neither is liable (as each was 51 in %2 nv119)
d  But if he gave him a nv119 and directed him to use %2 for mm1 from place X and %2 for m>mna from place Y
i And: 5w got m from place Y and m%na from place X — m%v is fully liable (he was 5y in the entire nv119)
IV 7 mwn: consequences of mYw modifying directions of 2”nya in re: expenditures
a  If: he gave the mYw 2 mo1y, charging him to buy an »InR & mYw bought an »INk (@2"w) and a pomegranate (@2"v) — both liable
i /amm . a"nyaisn’t liable, as he can claim that he wanted a bigger mnxr (worth 2) and he brought him a small one (@1)
b  If he gave the mYw a 1171, charging him to buy a garment and he bought a garment (@3 »5v) and a n%v (@3 yHo) - both liable
i 77177 71 2"nya isn’t liable, as he can claim that he wanted a nicer ,9n, worth 1”1, and not one worth 3 oyYo (V2 717)
1 Inference (from p’s7's position): if someone told his m%w to sell a 113 and he sold V%, the sale is valid and np» acquires it
(a) Rejection: in this case, perhaps the garment was worth a 911 and he got it at half-price
(b) Challenge: nmiv '7's dissent implies that the garment he got was inferior to what he requested
(i) Defense: the 2”nya may have responded that the n'>w should have spent the 7371 on a superior p¥on (worth 2)
(ii) Proof: N " (elsewhere) accedes to 'nan in case of N’1vp, as they have a set price (per 9™’s explanation)
V 1 mwn: entrusting w1pn funds (unknowingly) to another
a  If: he gave coins to a )1n%w (money-changer)
i If:he entrusted them bound up, the »»n%w may not use them ->if the )1n5>v expends them, he violates n%yn
ii ~ But if: he entrusted them as loose coins, the »n%®» may use them 1”71 is in violation
b But if: he gave them money to a regular person (2”ny1), in any case he may not expend it = if he does, he is in violation
¢ A storekeeper: is like a regular citizen, per n™; nmn’ "1 says he should be treated as a »1nYw
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VI 1 mwn: dispute n'nan/y™) about status of coins in pouch with one wpn Yv nVMA
a If:a coin of w1pn fell into a pouch (of coins) or he declared that a nv119 in this pouch is wTpn
b y”: n»yn applies to the first one he takes out
¢ opom heisn’t in violation until he spends all the coins (i.e. it applies to the last one out)

i Note: y™ assents in a case where he declares “a nv1a from this pouch is w1pn” — no violation until he spends the last one

VII 3 versions of 9’s challenge to j3nv "1 regarding »™’s agreement with onon in R0
a 02T 7T RWM to RO

i Answer: in R0, he declared “this pouch will not be exempted from wpn” (i.e. something in it will be w1pn —>last coin)

b 7227 rule of PV - if someone says “one of my oxen is wTpn” and he has two — the larger one is wTpn
i Answer: in R0, he declared “this pouch will not be exempted from wpn”

¢ 97z rule of pnY (1:1 '8nT) — if someone buys wine from 0m> (and he cannot separate ", e.g. he bought it just before naw)
i Note: this is under the assumption that ©21mW are careful about n"In, but only for their own use, not what they sell

ii ~ »”r he may declare that he will leave over 2 parts for nman etc. — and drink and leave them at the end
iii w77 0r 77,77 /1. prohibit (i.e. first must be taken)
iv  Answer: in R0, he declared “this pouch will not be exempted from wpn”
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